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Phys 131
Tall 2024

Fundamental Mechanics: Group Exercise 2
29 August 2024

Names:  S0LUTION

1 Ball launched vertically

A ball is launched vertically from Earth’s surface with speed 15.0m/s, The aim of the first
part of this exercise is to determine the maximum height reached by the ball.

a) Sketch the situation, illustrating the ball at two key instants. List all relevant variables,
including the acceleration, for the two instants.
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b) Determine the maximum height reached by the ball by using one of the kinematic

equations. Write down the equation, substitute from your list of variables and solve for
the maximum height variable.
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The second part of this exercise aimg to find the time between launch and when the ball
returns to the ground (time-of-flight).

c) Sketch the situation, illustrating the ball at two key instants. List all relevant variables,
including the acceleration, for the two instants.
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d) Determine time-of-flight of the ball.
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